([ gz -z S
R
——

*

§ — flz)=sin(z)/z

SN/ sin(pty)
ot (ry)00) Y

2 2 4
z@\,</ e* "*dx < 2¢°
K o @ 025291 N712N o
270WUN  PWOY NNTIN

nMnw n1M3am 23 (o)






12

16

19

25

27

30

32

35

37

39

42

0% 1999

0Mmon

M10 YV My

€ 999191 ,N0NPI ANV MHT10

03P LAY SYIP MITD ,MIT0 NN ,PINNM NDY H1a)

[=2@1)"]

PN HY M)

09930 79 VYN ,MIIN9

M)

919950 INON

SVI0YY HYa ,ymNn TIYN LaYN

ANY N7 MY

EPND NYYPN ,DINIVOPN MNP

099101 XY 999 0N

10

11

12

13



45

47

50

51

53

57

59

DDHVIN DY 0IVINIY

090NN SNVIINND HITHN MNP MIYPN

990N Y M)

O9NIN NY 090N

RPN 991V MIYPND DY M0

mMpIn Mo

02INYN NV HY MIYPN

14

15

16

17

18

19

20



P51 NMNTPN

TS5 PN NPPVNRNNNN PON ,NPI2 PR) DMDV OMNIN NYDD 1 NN
NPONNN HYHHIPDVLINIPN PNAYN ONPN N2Y NDWYN DN 1) (0N TIT
MOP2 N 2NN INNX DININND DY ITON .1PIN™I2 NVIDIMNI NPPVNNND

ONPY IDRNNY NYON

9901 IOV TIN NNINY DY DYDNIN DY NODDIN 1T NIIN LVITIPY MHNPN

, DMV NI 1090 DRIV, 2TNN NN DININ DIDIINNNN INPD) MONY
,ONONN NNTNND NODN DIDNIN DY NOITI MND POV, ... ,)P22 DNIAN
95 MWYS NN DY PNRIND INYMY Y1) DX INNN DY 1PN WOIN NYTHND
VAN .DWTNN DDNINND NN DY TN KNI M DTN L(N1PNIAN

22 PHNA DOWNNY DNINNNN MOXY NODIN NITYA DIDNINN NX PYYNY

KETEX 2120n5) ©9)9010 )X (1070701) Tayna NI YW Tiny .18y

TN LIPMIONOND PYTY NoNN M2y BIEX 2 23055 nn XD My ,ND) My
NMIY 25 SNANOY IPRND MTIPY 10N NAND D12 ANV NDAN VIDY
(nyvin »ay BIEX 2 oonan bv H1nnn n9»12) David vnoa vy onyt

S92 5910 INNYHINTIM ,XIDPD IRYIN MDA TWINNT

(T¥NnN2 ©IY 191N NNT) DIDNIN 59N NIINN DY NYRIN POND NN

DNV NPONN IDIWIY MPONA DXINPNND NP DY DIMDIN D1 NUN PONN

5



ONINY JINOT DIND,N2ANN NNNY DO : DININ DININN Y, MNNPN
IPRY TWONNY /N2N0IP

tsaban@macs.biu.ac.il X111 YH¥ NIVPHNND INVTH ,MIYND



1949

070N

5 DIPYHM DIVDPNRN ,NNNNN DONN IPYYN DONN NX N¥D .1 NINY
TINYD IR PRY .DIMP O WK ,MININ MNP
— 2 .
A={5-2:neN} (11
B:={(-1)"(5—-2):neN} 12
C = {28 . pneN} (1.3

n2—3n+4

D:={n+<:n,meN} (14
DIPPH DIPOPR W NP N N NXIAP 99959 NN .2 NINY

monw IMX Sy My 1 inf T yinf S paqwpnnn .S C T wpnm .3 nHNY
sup T ,sup S
INAN NYOIN NNN DI 1T NYT T DY 7190 X NN .4 NHNY

90D NY N DO NmIDNY DYWNRN D900 YW NP XY NXIap Ann (4.1

D090 NY X V9 nmon A€ mdbwnn Napn NX

7



00N .1 979 8
SN XD TlBthb D12 0P TUND (4.2

199, 01990 0P ¢S NNAPY N ,c > 0) DddN 0P S NIAPY ON (4.3

.c-min S NN

SN NP XY NMoN NXIAP S ONn (4.4

c-supS ¢>0
supcS =

c-infS ¢<0

S+T :={s+t:s € S,t € THpoy . mmonm¥ap S, T # Hn»nn (4.5
N
sup(S+T) = supS+supT

inf(S+7) = infS+infT

N .mon Map S, T # O ndnn (4.6

sup(SUT) = max{supS,supT}

inf(SNT) = min{infS,infT}

Y203 02PN 0900 5w MNP S, T # O ny»nn (4.7
1 1

S-T:={s-t:seS,teT}, g::{—:SES}
S

N

sup(S-T) = supS-supT

inf 1) _ L
! S)  supS




9 2+199°0091N NIVN

ININ NIYON IR N .S, ¢ 1 R — R npspna sne mnny .5 hNY

sup{[f(z) +g(z)| : z€ob]} <

< sup{[f(z)]: z € [a,b]} +sup{[g(2)| : = € [a, 0]}



2919

MH10 DY Ma)

VTINN 29 5Y NYPY NN .1 AYNY

. 2n4-(=1)" _ 2
Jim 257 =5

lim 2L cos(n?) =0 (1.2
n—oo 21 ( ) (

lim —2- =0 (1.3

n-soo 4V
2
. n?—=1300n4400000 _
lim = e — 0 (1.4

{a,}22; MTOY 1N NN 912 DPP NIHN NDHY NN NDY .2 IRV

DT DY NYTIININ
0 »mvn
ap =

1 »vxn

D orp NY

10



11 2+1900D99N NIVN
2790 IR NN {a, 152 TP NN NN L3 NYNY

lim a, =a = lim |a,| = |a| (3.1
n—0o0 n—0o0

(@ My oMpn v panan) lim |a,| = |af = lim a, =a (3.2
n—oo n—oo

lim a, = 0= lim%zo&.”

n—oo n—oo

lim a, =1= lim (a,)" =1 (3.4
n—oo n—oo

1 (DY0VOVN Y9 HY) DINAN MDD NN VN .4 NHNY
. n3+4+4n—5

Jim 5oy (41
2™ sin 2T

lim 3 (4.2

n—00 3n
lim (Vn+4-{/n) @3

7 2
: n'—3n“—1
Jim L 49

lim /420305 (4.5

n—00

. 1
hm ;W (4.6

lim 12 (4.7




MITO YY M9 .2 719 12

955v 0 < g < 1 0»P) 0»PN 01900 Y {2, }52, NAPO N .5 NYNY
NIPONY MXIND W VX)) lim z, = 0w Mz, < qr, n € N
n—r0o0

{(NOPNN

NN N8N .a”, 0", ™ DN PMYYN MNINY UIWND DYP 1 DIDY PN) .6 NINVY

N0 .(a, b, ¢) MN3Y DMIWANND DY 5

:ADN .DMAPN DM90N a, b, ¢ P [NANN] .7 ANV

lim Va" 4+ b + ¢* = max{a, b, c}

n—oQ

STI9N N N L8 NYNY

92 px {b,} mo5 L = 0525 nodnn {a, }o2, nPonw pm (8.1

t992 px {a,b, 152, NATOY NN

L # 0 oyanw NOX , 0P 10D (8.2

STIONIN NN .9 NHNRY

v 12Y NP M2 59V) lim /a, = 0w, L =01, lim a, = Lox (9.1
n—o0

n—oo

09OV @, ONIAYVY 1 DY DY NOIN
(AL = —00 NP2 1192 590) L < 0 9wNd NoRY NN (9.2
AL = 0o mMpna1mavov) L > 0 9URd NoNY NN (9.3

MY {an }o2 1, {bn}o2; NIIN NXAN NIYON NN TION N NN .10 AINY

290 9123 0P XY {ay, - b, }52; DAY RINR .MMON NI N TD



3999

990129 ,M0NMP9 ,0N01MN MHHYT0

€

:0”pnn k € N 955w 79 011900 m10 {a, }%° Pnn [jnann] .1 AYNY

Qo < G942

Aogr1 < Qop—1

im (apy1 — @) = 0 ox pM OX DO {a, 12, 29 NoM
— 00

n

Mo PN {a, 152 1, {6,152, IMTO Y MINMIN [1N2nn] .2 NYNY

Jim g2y pyta L lim a, = 0o 0PN N {a, + by }o,

n—oo " n—o00
3 noNv

NN (3.1

A={x,=1\/2¢/2V2---:neN}

oo T



€9900N ,MPTNPY,NPNOIMN MTO .3 779 14

Tpp1 = ,01 = V2 WSPYIONI AHN 7)) .sup A nxy inf A NN XN
(\V2z,
1IN NINNDY 90N KY) \/ 5+ /5 +/b+ =z INNwnn NNING (3.2

(DINRNNAYIOND 19 MNIND PRY NN ¥

n € N9 a1 = ¢ :axannsa{a, }22 , Mo Tnce > 0 4 nHNY
Opy1 =6+ ay

N0, NP DT NATPON O IPIN MY (4.1

7992010 170 7 912 NYTPOY D»P DR ,DMIPHRNN TR D1 (4.2

Op = g gt g (NI DNAMTIDN NP {a, 5y NN .5 NIRY

[2, 3] yopa xym N912WY ,NOINN NITONY NN

: DINAN MDD NN YN .6 NHNY

NIYONMIPINRYIP DY IMON NPNRY 01900 NVTO {a, }0° ;NN .7 nHNY

A(PmI) PN MYaN NINaN
n9I any1 > ay (7.1

omMon N ndnmi apt1 > ay (7.2
0N NOPX N Gpt1 > Gy (7.3

DN NOPN NAY a1 > 1000100000000 (7 4



15 2+199°0091N NIVN

NOPNI NANIWY MO NN W {a, }02, Y [nann] (7.5

1939 NN (0 11 DMVY) D»21N D190 MTO {a, }o2, NN .8 NYNY

n a1 +---+a
ﬁs "al ..... an§¥
a_++_ n
1 an

YN RIPI SWSHNA DI 2200777 Y00 NAPI PINNDYN DI,/ MUONI

N3 PMYOIN NIND YATY TONR) 220N Y¥IIHD XIPI MDD DN 2IVDIN)

N0

lim /a; -~ Up, =N .a 91D NOPNHPN AN MO {a, 12 0N (8.1
n—oo

.a

Jim /@, = ann . lim 225 = g w13 mavn m1o {a, 72, N0 (8.2

n—oo n—oo

MN NN NND (8.3

lim /1 + a»
n—0oQ
lim {/ 3/a—1
n—0oQ

.a > 17y

: DYNIAN MYN NN NN (8.4

: 2"n!
i,

lig o/ L35@n=1)
e300 2-4-6-----2n,

N\ 1/n
lim ((2")'> 3

nooo \ (n!)?

. T
lim ’;—n .4
n—,oo

lim n"¢", (0<gq) .5

n—o0

lim (nt/n)"/"

n—oo



€9900N ,MPTNPY,NPNOIMN MTO .3 779 16

lim ¢/, a>0.7

Y

n—oo
0 < b < 1opnd pon ) im gy (0 < b) 8

A<bhb=1

Y19 9Y NVTIND NITONY NN .9 AINY
a; = 1
_ 1
Gp41 = Qp + an

PNVMN NONY IXRIMN ,NMON NIV MDY NN : 139) IINON NN

2
an = £4 721 sya0n 999,00 = ¢ .0 < ¢ < 1P [inann] 10 AYNY

1912 NN XY¥M?Y,NOHDNN NHAPNNN NIPONY NN

) nyony..pryl/n
im 2R by N .11 AONY
n—00




4 79

MHYT0 ,MH10 00 ,)PHNM )P0y 52

035 LAY WP

:IWUND {a, 152, MTON YV 0”PINN M1 55 IR KX .1 NYNY

— (=)

a, = i (1.1

(1.2

Qn

an=n—71 [%] (1.3

P1man € Naya; = 0% .2 nNv
Qon = a2371

_ 1
(2n4+1 = 5 + Q2n

Jiminf a,, XY lim sup a,, DX X80

17



MOIP LAY YNP NITO ,MITO™NN ,NNNM LY 912 .4 P9 18

NN, IMON {6,152, Y nodnn {a, 150, ONY NN .3 NYNY

limsup(ay, + b,) = limsup a,, + limsup b,

4 NHNY
NN limsupa, - lim sup i =1 o»”pnm ,n 930 a, > 0 oxw NN (4.1

.0”p lim a, 920

n—00

@y, > 0,1 995% NYAITN DX DYVNYN TUND NI NONT N (4.2

5 NONY

79019 NDIINN NPNRY DPNIPNT DM0N JYW SWIP NIPD YW XoNT N (5.1

SNIVN PN NI

Uni1 — ap| < K - n09pnn 7710 {a,}2 om0 < K < 1> (5.2

03000 {a, 152, MmonY N .n > 2935 a, — an_1|

(TPSPYTINI NITO T [n2nn] (5.3

1 1
a1 =13;  api1 = a, + (—1)" <2_n + m) (n>1).

00NN NYTONY NOMN
:IN2N NIPO AN .6 NONY

1 1 11
bl 72’ ’4’57"'

W =

: NMINAN MYITN AN NNIPNRNT MITO™NN NOOX YW NNT NYTPOOY NN (6.1



19 2+1990Y0VMAON NaIvn
1TON DY DXOPTINN DI NN NDI IOV DXOPTIND DD TN .1
.DMYN DOPTIN MITON™NND PN .2

(79721 571) 512X IMNY MANIY MITO-NNN Yo .3

,(2) ,(1) MNON MPPPNNRY TO MITONN DY 291D 1900 ¥ DXY N1 (6.2
NOY NIPN D) DX 912 MK NN GN NDIDNHD NINPNRN NIPON IN,(3))

TN DY AMITO NN (POIN) DY GMUNN 91230 NOIONND NNPHN NITON

:NININ MITON NX TPIPITINI DT .7 AONY

ap = 1 b1 =4
a'n+1:\/6+an bn+1:\/6+bn
nNIAPN ONN (7.1
(1@, br]
n=1

PN 79 ON 77292 NN NP 191

mHTo1 M (7.2

ay, NN by, MM [Cnydn] M1
Cp = s dn = 5 In =
6 —a, "MNVONN 6 — b, NVONN [dn,cn] MOND
NNAPN ONN

o
N
n=1
DN 7D OX 7292 NNX NP NN

Op—Op_1| <OPpN2 < n5MNa; = % w11 {a,}52, nn .8nHNY

0 < a < 1v75a925 NOPIN AVPONY NN o=



5 999

1=k ))*

.DONIN DNV DY MITANI/MOIODNN PIT2 .1 HNY

o0 gl
ol (11
n=1

(a>0) i (an %) a™ (1.2

k=1

00 n 1
2. (10" T n(n—l—l)) (1.3

i n—1 2.5eunee 3n—1
> (2 + 2el) s

3 (%ﬁ + 2n1_n> (1.5

: DYNAN DMV YV DNIDD NN KN .2 AINY

o0

1
ngl n(n+1)(n+2) (2.1
> In (1 - m) (2.2

o0

;m a#0,—1,-2,-3,... (2.3

20



21 2+41°90900V99N NaIvn
STI9NIN NN .3 NHNY

o o
ATIID D0 5= NON I ,DINN Y by 231NN NON DX (3.1

b
n=1 n=1

o0 o0
AT Y0 T O3 IN,ITANN D @y 2IPNN MON ON (3.2
n=1 n=1

o0 o
0NN Y a,? DY IN,0OINN D ay, 2IPNN NON DX (3.3

n=1 n=1

WHPMMNONT 1 —F+5—F+35— 5 +... NONNM 4 nHRY

(7791 X NMN)

1 1
V2-1 V241

+ i~ g T MON MY NHRY AN 5 NYNY
072NN N ONINA ,VONN DIDIINND DINIAN DINVN T IWIDIND .6 NHNY

S 1(22)" (61

[ee]
1
(x #-1) > Tian (62
n=1
: DTN INONINL ,VONN DIOIONN DINIAN DINVN DNN P12 .7 NHNY

Y (—1)"5 (525)" (7.1

n=1

> (-)AL 7.2

n=1
S cos("—”)
7;1 In n-l?l) (73
.8 nhHNY

o x o
09NN 0NN D ayby, MNONIN,DOINN Y b2 191 Y a2 oNw NN (8.1

n=1 n=1 n=1

o0 o
05NN 0NN Y %2 I ,000ND Y a DNY NN (8.2

n=1 n=1



oMM .5 P9 22

mown Ny =k, k+ 1,6+ 2,...900) .70W5N0 Mvn 1900 £ .9 NHNY
opnnY 19, f 1 Ny = N 59 1099y 1010 mdspns nn»pw

o (=1)/)
; f(n)In(f(n)) In(In(f(n)))

A f AN NSNS NUPANI XY 1)

=V3

T2 VIR NX ITOD 1) ONN ,DINAN ©¥NVNN THN D320 ,yap .10 NINY

=9 TP 5APNNN NV DOV

s n cos(n!)
> mesnd) (10.1
n=1

= cos(nw)
1ln(n-f—l) (10.2

n=

3 (=1)"n! (10.3

n=

[y

(v2)v
Al = T

NITO2 MM .11 NORY
N7 NNY NP0 OND (11.1

o

MVN OX 19TANN PRIN 09NN PN Y (—1)"Ta, Mon oxn (11.2
n=1

NN So;, DYPYNN DIMDDN NITOW NN :I07) IDDD DX KN ~ DIONN

(nvMmn

0 n
Amamn 3 i monw nom .12 Aoy
n—

: DINAN DYNVN DY MITAN/MOIdNN PIT2 .13 NONY
o0

Z( 1+%—1) (13.1

n=1

io: (=)™ (g - arctan(n)) (13.2

n=1



23 2+199°0091N NIVN

[e.e]
Y15 HY DYAPNNN ,DOXRAN DINOVAY NN YOI N0 D a, N> .14 NINY
n=1

: DY0)0NND ,7V2 OMIND NAOIN

an = (a1 +az) + (a3 +as) + (a5 + as) + . ..
n=1

00

ch = a1+(a2+a3)+(a4+a5)+...

n=1

7912 IMND DYDINN DMIVN NWYY OXN . lim a, = 0 w Y (14.1

n—0o0

oo o0
Llim a, = 0w PNI XYY 5122 IMNS 00NN D ¢y ) Y by W oN (142
n—o0

n=1 n=1
o0

103900 Y | a, NIINL DN
n=1

o0 o0
NI912 ORA (9122 ININD NN ND) DOINN Y ¢ Y Y, by w M (14.3

n=1 n=1

o0
ST RONT N T IPYOW NAIWNN DX 103001 Y | ay,

n=1

o0
Y910 9902 PN ON” : ININ MYV PI12AN) .ODNND NV Z a, o 15 NYNY
n=1

J7IONN HAPNY WINN 10N D) IN,NVNN DN YV

DD DIPNN SNNVY INDI( NIDY 221N IV NIY P D) MYV ONXN (15.1

7)D21N PN YD
705NN2 DIDNK IV 912y NN MYLN ONN (15.2

7NN DIDNNN NV N2Y NN NIYON ONN (15.3

cos(nm/6)

m(nrD) oM ORN PYT2 .16 NONY

o
09NN ©IPNN Y
n=1



oMM .5 P9 24
SNINA OONNKN NV PO .17 nYNY

90N 12 ,ITANN 7292 VY OMIAPNN OMDNRNN 1NN NVNY NN (17.1

L7200 252 Y5V 0»DOWN DIINNN 25N

DN 190N 91 OMIAPN DD DY INDIN 99010 DIPIIT XY M) (17.2
DN DY INDIN 1901 7V IR PYTYY T 70NN DODHY DN DY
DIDNN PYTY YINN NON DR .OMDOY DN DY INDIN 90101 DMIAPN

.DMPN Pon PNINI

o0
VONN2 DNND Y| ay MNVN DN YIP ,NININ NITONN NNNX 935 .18 NHNY

n=1
IONIN2 N
1
= n=2k+1
a, = { F (18.1
(2_152 n =2k
1
— n=2k+1
a, = In(2k+1) (18.2

tan% n =2k

(tan(z) < 0N ,—7/2 < z < 0 DRW 29 DW)

p
1 —
ap = 4 1—cos\/+l—k n = 4k (18.3
\0 NINN

o
PADN NN TTOY I IN ONINL OINND Y | G, DN ,JI 0IWN 13D .19 NHNY

n=1
o0
MOVN DR .S F# £oo W N .S D1POY ©INNN, D by MDYV NOY YINN

n=1

o0
NN 0NN Y by

n=1



2+199090V29)N NaIvn
009NN DINAN DNV £ Y DY DI IDNY .20 AYNY

5 (2a)" (201

n
n=1

o
> nFam™ (20.2




6 919

NMONPN DY MM

TN 29 9Y (9120 DX XD IN) NN .1 AYNY

lim &= — _36 (1.1

z—7 T8

lim =L =2 (1.2

z—1 -1

(@>0)limi=213

r—a

: 62241
llr_noo 3702 (1.4

: 6x2+1
8, e (09
INAN NNIYLN NN NN .2 AYRY

o»p Ny lim (2.1
z—0 %

o»p Y limcos L (2.2
z—0 z

26



27 2+199°0091N NIVN

l—z z€Q@Q
Sx) = NN .3 NONY

x? ¢ Q
100p lim f(x) 91290w 75 ¢ 0»p ONN (3.1
r—ra

20 —1 €@
g(x) = PNPNON MY 5" (3.2

x? rg€Q
{DY0AVN NITYI) DININ MDD NN N¥D .4 AYNRY

lim z(z —v22+1) 4.1

T——00

lim SnE—a) 4,

2_o2
z—aA0 T4

. . l
il_I)%[.T sin ] (4.3

lim (= — 25) (4.4

11 M-z 1—x2

lim (z +sinz) (4.5

T—>00
: Yo Y1=
lim 222 (4.6

lim —2%—+ (4.7

7—0 2+sin %

. l+cos 7wz
il_)n% z2—2z+1 (4.8

. z2sin 1
lim z (4.9
z—0

lim (7 + ) (4.10

T— \SINT tan x

lim —2=4 __ (411

o 9 arctan(z+2)

sinz

Jdim (f(22) — f(z)) = 03, li_>m f(z) = LON : 7990 NN .5 NHNY

T—00
21NV 7o PIONY I ONN .DMP N liII(l) sin% 9N NPD 6 NHNY
T—
29 5y H11N NN VIDW) £ DIPN — N3N P Yy 0»p N lim sin(n)
n—0o0

TR IANTO



7999

0993537 7Y VOYN ,MOYY

N9 [0 1700 .z NTIPIN N202 MITIRN NPXPND g f NN 1 NINY

o A NN PN g 19 T N0
J(xo) = 00X T2 NMNT f - g ONW NN (1.1

Lo AN f - g NR,zo N2202 IMON g 1 f(z) = 0 ONW NN (1.2
NN 1 Tp N2>202 NMON g ¥ NNINN DY OTIPN PYOI INND N ONN (1.3

JNIWN NN

PNDY MININ NPEPNN HY MDY N MTIPI NN N .2 AONY
flz)=(z-[z])(z-1) 21

2 (VneN)z # 5

fz) = (2.2

r (IneNz =

flz) =% (2.3

28



29 2+199°0091N NIVN

tan 2 T 7& 0
fla)y=4 > 2.5
3 =20

9N TPNN NXIAN INPNNY TO by a N8 .3 NHNY

f(®) =< asinz +b T <z <3

[nann] .4 NYNY

w o L lim f(z) = =1 np»pm [0, 00) 2 Y5 NN f v M (4.1

T—r00
sup{f(z):z €[0,00)} <0 :779n
ym qom L f(z) < g(x) ,x € [0,1] 9391,[0,1] 2 Mm% f, g0 ym (4.2
1P No»pw N .sup{f(z) : € [0,1]} = sup{g(z) : =z € [0,1]}

J(20)? = 3f(z0) = g(20)? — 3g(mo) NNy 26 € [0, 1]

M»pnn L0, 1] Ao Yyopa MPNT NPXPNS g ) f 1NN .5 NYNY
zo € [0,1] nmpy no»pw nowm L f([0,1]) € [0,1] ,9([0,1]) = [0,1]

JS(xg) = g(x0) NM2YVY

L f(2) =1 w79 [0,2] yopa noxd mspna fonn [nann] .6 NYNY

f(w0) = 55 w12 10,2] 3 20 NP NOPPY

SYUNND YNV Y TIININ NOYNN DI HI5W NN L7 NYNY



0»PAN TW VIV MY .7 719 30

.8 NNV
[0, 00) yopa T INo v zsinz + cos z = 22 NNNWNOY NN (8.1

rsinx +cosx x € Q
MY 1o a > 0w onn Lf(z) = NN (8.2

x? € Q

100p lim f(z)

Tr—a



8 719

TN

DY MITIN MY NN AWM, NNDMOP NITNIN 2 I IDIND PN 1 AONY
f(z) =In(|z + 2|(z + 3)) (1.1
1

2 1
x°arctan — 1 # 2

f(z) = (1.2
0 =2

f(@) = (logyp(x))" 80 (1.3

f(z) =209 (14

£(z) = log,(z) (1.5

flz) = 2zteos@) (1.6

F(z) = 2o+ . aresin(3z + 5) (1.7
f(z) = (1023 + 2(2* + 4))*0 (1.8

f(x) = In(sin?(3z + 8)) (1.9

f(z) = ((52) + 827 — 3) "% (1.10

31



oy 8P 32

flz) =32+ 1)(z+1)%In(z® +1) @.11

fz) = /32 112

f(z) = lﬁii;‘nmz (1.13

NNV M sy 0 TP X9 N L,0 nava v f sn .2 AYNY
L5 mw o»p lim £&

z—=0 T
P00 NN 02 MPXININY NN (2.1
70 X0 0 2 MPOXININ PO T DY f 10 NYAPNNN HIIPNINY NN (2.2
O nNavn 02
Ranmymm fron 3 n58Y
Jim Hooth) J@woh) — f1(zq) X 29 2 MDD f ONW NN (3.1

—

(9D) 9123 DMP NNY Y92 ,zp 2 NV APNY [ TPINPND NONIT N8 (3.2
1lim f(zo+h)—f(zo—h) V1Y
h—0 2h

o”pIn x, Yy 935w 70, Rann fonn 4 NNy
flxz+y) = flx)+ fly) + 2zy.
S"(2) = 2 7P 2 090ye N,z 935 NN

;N . f(x) = z cos 2 N [(NINN] .5 NYNY
072 npvo MmaxN nova f(x) (5.1

072 190 NN MNIN N PIPO P DY f 10 nbapnnn mspnon (5.2



9 P9

41990 HNDY)

INAN NPSPNN OV YNOPN NNON XN .1 AHNRY
3oy f(z) =27 (11

59707y f(z) = tanz (1.2
4= 1220,f(z) = 2% — 192y 29700 29PNN DD NNIYN .2 NINY

:2WN .3 NYNY
1078 5w py7asin(1°) (3.1

107° 5w pr1alog(11) (3.2

.4 NONVY

v 1o R 5y mymm f(x) mspns xsn [nann] (4.1

F3)=2,f3)=5F"(3)=-4f"03)=7,f93)=-1,f93) =6

33



MMV NNON .9 P19 34

P [—1,1) 20mya 10 7w f spnansn .a, b, ¢, d € Romm (4.2

f(x) = mspnan Hv 2 = 2 2220 NY»O MM AR KN [1NDN] .5 NYNY

JPANYN NN TIVM 9992 T wn 9710 Ty 28 — 422 + 22

NN ,NAD DY 5 Y, To NADA NI £ W) [JN2on] .6 AYNY
fl(xo) = f"(x0) = f"(z0) = f@(20) = wron 1Y .OW NPT OWHNN

My ompn 0men NP NN 2o W N L F O (z) > 0w, fO)(zy) =0

7 YNY
'R 2 arctan z = 22 PNNWNY ¥ DOVNW NS (7.1

L0.07 5y NOyN XY IRNYNY 7D, 09RND NV YNV D5 2 PP N8N (7.2

79,[a, b] 2 ©nys £ 1P f XN RN MYOLN NN TI9N N NN .8 NHNY

NN . < kN .z anosy f8)(z) v
Ja, b2 oomys k nva R, (z) .1
R (z) = fO)(z) ovprnn+1<j < k9 .2

2o a0 R (2) 3

N9 v 1o In4d nxy In 2 nx In }j—ﬁ INPNAN NNY2 AN L9 NINY

1073 9y nyn



35 2+199°0091N NIVN

,MNIN PPN NI Tp 220 7 VTON NV MM NN 2WN .10 AYNY

JOAIRYN DX TIYM
J(@)=2a8sinl 2o =1 ,n=3 (101

S(x)=In(1+4+2)sinz 2o =0,n =4 (10.2



10 P19

D097 595 ,¥8HNNN TIVN VOYN

: DYNAN MN NN S9NV 555993 NN .1 NHYNY

. e&U_l
il_I)I(l) 1 (1.1

. cos 2
zom T

DD DINRY NN IN,MNN NN N8N .2 NINY

i (s~ ) 23
lim z(¢/a—1) (2.2
T—00

lim (%22) 2 (2.3

z—0 z

, 1
lim(cosz)=? (2.4
z—0

lim z*e™® (2.5

r—r0o0
1. xlnw
1m

z—o00 (IN2)*

(2.6

: Ttanx
Nim e @7

36



37 2+199°0091N NIVN

lim(1 — ) tan ¢ (2.8

rz—1

1
2N s v poy Lim (555) =¥ 510 nnavn hnann) .3 Ny

cos 2x

T4V < arcsin0.6 < T+ L y¥mmnn TN vawn T Y NN .4 YNy

.5 NONVY

ANPN YIS W N NYYNRN DDA YD  TIDIIONT Y ITIDNT LAYV NN NN (5.1

OV OVNIY N

P ANY PR P (2) NN MIPNBY NN .0 NV 0N p(x) 0 (5.2

omvowvnwn — 1

w p'(z) mspnsdw nomn p(z) = (z — 1) (z — 2)(z — 3)(x — 4) > (5.3

DOUNY TIY ND YOV DN DN .O»WYNN DOWNY 3 MNaY

g(z) = mspnonv non .f(1) = 0 no»pm R 2 7w fonn .6 NN

g'(z) = 0nxnwn e pIans v Ranvoz - f(z)
2(Inb—1Ina) <b? —a?oopmml <a <b< 29550 N0m .7 nvNY
SN PN, )NIND ¥ 27 = cos T NXIVNOY N [IN2nn] .8 NHNY

N2 .oV NYXN NP w9 ,[a, b] yopa mym fonn[inann] .9 AN

f@) = f)l < M|z —ylovpmnz,y € [a,b] 995w 15 M € Ro»pw

7035M0 Z " () = 0N ONA .10 NNV



11 949

Y DT MANA

NPRANDNT g(z) = 22 + 2 PIPNNY ,NITHINN 95 MPY NN .1 1YNY

[—4, 3] yopa mmv

[+ g mspnanw o .1 yopa My NTRI MONY g f 1NN .2 NYNY

OV MY NN NN

NNy fronmn B C A>sam , An8nIpanmvnmninmsd fonn 30Ny

Banwnmna

NN £ - g wnon R a2 mmom nv nTna Moy f, g mmdnn .4 nYNY
DV Y NN

STIONIN NN .5 NYNRY

Ramunrmnos f2<Ramunmnmanosd f (5.1

.ownmon f < I yopamvy nmnanssy f (5.2

38



39 2+199°0091N NIVN

xz € (0,00) 995w 75 M > 0 v (0,00) YIp2 MY nPra noxy f (5.3

1IP2 MW PPN NN g(T) = = MNP AN, | f(z)] > M o»pnn

f(z)
(0, 00)
a?sinl z#0
MY P NNy f(x) = IPNAN ONN .6 NYNY
0 =0
1[5, 2] yopa

YOP 991 MY NP2 NN f(X) BN 7990 IN NN [N2nn] .7 NYNY

(0,00) 2amw nTNRa NN f(x) BN, [0, M] nsnn

7(0, 5] yopa MY NP N9¥A 27 PXPNON DX [JN20n] .8 NHNY



12 949

HPEPND NPN ,DMIVOPN M)

MININ NPIPNN YV DMDIPH DIDOPR) DIDPNH MTIPI N .1 YNV

z? — 31+ 2
= t N = = T
f(z) =z +tanz; ¢g(z) R h(z) ==

2 9NV

: TINAN PPN YV DPPIPHN DIOPR) DI1NH MTIPI XN (2.1
sinﬂEz) T ?é 0
flz) =
1 z=0
(=7, ) yopa

1(—7/2,0) yOPa NOINN PN f INPNAT NP ONA (2.2

Sf(x) =2sinx — xcosx — % + 55N .3 nYNv
793109 IN DIOOPN 01PN MNP f(z) Y v oxn (3.1

(1, 00) yopan>on f(x) onn (3.2

40



41 2+199°D091N NIYN

TINPNIN DY DMI2I7) DIOPN) DIPND NN .4 NINY

flz)=2>+32° — 24z +5

A9V 9N DX N, NINAN NPIPN AR NPN .5 NHNY
Raf(x)=ze* (5.1

Ray =22 pnann] (5.2

Ray=a??— 273 ynamn] (5.3

=27, 272y = x + sin 2z [ynann] (5.4

.6 NYINY
(0, 00) DINNA Y = 2% IPNN IR NPN (6.1

2(0, 5] DINNA MY NN NYNT TPNPNN OND (6.2

NOMN L7 NYNY

(0,5)yopazr <tanz (7.1

X F#05%e* >142x (7.2

DINNNN OMOYN OPNWN 971 18 NIN NNIDI NTID DY NNLY .8 AYNY

WP DN ,NYION YN 0NN 970 50 OYWN DYTIN B0 75 2anNH1 DN

759°0P1n XIN 0OTINN NLYNVY

PYNIN V929298 IWN, (3, 4) NTIPIN TIT I2IWN I INNYN NYD .9 NINY

29199 NLY Hya YIWN



NPIPND NPPN ,DIMIVOPNR MNP .12 719 42

ywa v 151 0 NP OTX X8 ¢ = 0 nNywa [nann] .10 ARV
P AYNN NINNN NAPN MPNN IWRI) WP 4 — 129 e im vyt > 0
NTIPIN YOPOPNN IPNIN NN N¥ND L(NONNY NYNN NIND DY MPIN)
OV DNLYIND MV PRYN :NNON) LTNIVN IR PISN 310 mywn pa 0

(Mnn

995v 75 ¢ > 0 y12p 099 ,[0, 00) 2 N MNPN fnN [nn] .11 AYNY

Jdim f(z) = oo momn . f'(z) > ¢,z € [0, 00)

T—00

o M»pPY 19 ,[a, b] YOPI NP IPNS NN 719N N NN .12 NHNY

L9 9 X1 PANONTIP f 9 W NIONANN .21, o € (a, b) NP MTIP) NV



13 949

099091 NY 099 VN

.DININ DOYNOLINN NN X¥ND .1 NHNRY

[ /2 z/xds (1.1

[ (e® —2%%)2dz (1.2

f cossz dz (1.3

cos? zsin? x

| Zervemde (14

f zarcsm J} d./E (1 5

2x—+/arcsin
[ =farsing v;*_;giﬂdx (L6

[ €** cos(3z)dz (1.7
J xtan® zdx (1.8
Jzln H—ﬁdw (1.9

J (Inz)*dz (1.10

J tanz In(cos z)dz (1.11

43



DYMMON XY DYNOLIN .13 P19

44

J e (112

2x+4
o2% p2dg 70T (1.13

2243z+4
4x2—12z+14 dx (1.14

3z+4
f $2—|£—c3w—4d‘r (1.15

dz (1.16

f (2a:+4)(w 1)(z2+3)

[ 242 =80y (117

T3 —4x

[ sin* zdz (1.18
[ cos® zdz (1.19
[ sin® 2z cos® zdz (1.20
[ sin4x cos bzdz (1.21

f 1+smz+coszd$ (1 22

f 1s1n25c d.’L‘ (1 23

+s1n x

[ 802 g (1.24

cos® x

J Aidr (125
| 7=sdx (126
[V2 -z —a%dzx (1.27

[ ¥4y (1.28

[ Z=dz (1.29
f:UQeﬁda; (1.30

[iInidz (1.31



45

2+1>91PD09N PNIVYN
[ smapde (1.32
[ a=sdx (1.33

[ arctan zdz (1.34

.DYNAN DYNVIND NN2Y NI NNON N¥D .2 NYNY

(Inz)"dx;
/ /\/a-l-bac



14 919

D99)30N YV DIVINIY

1 noNvY

2

2
+ 4 = 1 noYYHRN > HY DIDNN NOLWN NN KD (1.1

ml;| 8

) f(x) = sin(z) npspnon nnn (1.2

)
x 0<z<m/2

9(x)=q -z +7 7/2<x<31/2

x—2r 3n/2<z<2rm
\

[0, 27] DN Y2 XY NOLWN NN N8N

2 NONVY

' /2 Vsin™ & _
A L, T vtz = [ 0P m,n € N 535w mn (2.1

(t = § — T DN IUNDI MNP 10 P2ANN

2
Sy T = 1w nom (2.2

46



47 2+199°D091N NIYN

7 /3, m/2] yopa y = In(sin z) MNPNAN YW §IN TR DX XY .3 NINY

4 NNV
[0, 7/2] ownmay = 10 + sin(7z) 78PN 9 HY TIND NN VN (4.1

212°0 7 YY NYAPNNN NN S D190 NVY IR N8N .a € [0, 7/2] 1 (4.2

(D0501 ) [a, a + 7/2] DM T PX A0 Y = sinz gNN
2HPOPN XN HAPNNN DN NVVY T ¢~ NN NN (4.3

D052 NX Y915 D291 NLVY TYNRD DMTIPN DIDYON NV DY NN (4.4

NONP YV ,0%9 ALY NPNIAN ANV TPNIOND NNSN NN N8N .5 NINY

Vonrnd pas nov nodn AU 1o 0MmY

MODWNNYNL(ND2102 2IND NI) WITNYNN TIY PNINKD NNWNL .6 NINY
DINMA ,& P DAV y = —358° + 3 + 2 INIWYHN 1D MY MYAPANN
NN DY NINNDT WITNVNN DY : MONNYA NN 12287 ©Nin .07 [5, 10]
NYTO DOV ¥T13) DIDN TINA NN MON D3NN NA NN NINNNDN NISPNN
N9 NN IAWNT,7INPNN NN NI¥DY YITNYNNRD 1Y .(NNINNX 1592 7125 N0

PP 5N



15 949

D9203RN NI NP NPEPND

00129

WYANOIN g(x) = 22 IPNINY INOPRN NN 29 5Y NN .1 IHNY

SNOPRD NN (MTHNN 29 YY) X8 ,[0, 1] yopa

PN AWAN) YVOPNN NN AYN 0NN DMPHRNN TN Yo .2 AYNY

VTP TPEPNY NDOP ONN PN ,(DX0oWN2
4

sinx 0<z<«l1

3
.{ﬂmm Sx) =41 1<z<2 (21

2 43 0<z<l1
J g(z)dz g(x) = (2.3
0 2’ +3 1<z<2

48



49 2+199°D091N NIYN

2
Ve

®

2
e < f e’ 2 dy < 2€? 55 (50NN HY PYW WD N99) NN .3 NYNY
0

: DNONN YPLINN NITHN NNY2 VN .4 AINY

hm n2 <(n2_1|_1)2 + (’IL2—|?22)2 + st + W) (4‘1

n—oo

lim (75 + 5+ +5) @2

n—00 n+1 n+2

lim L (en + 5 "

lim & (en +en 4o feh ) @3
4 (n—1)2

lim (n%enlz +Zew 4o 4 15l ) (4.4

n—00 n

T NN R8N 19 OX {0, 1] 5Y NPHIAHVIR NMININ NPIPNN DX .5 NINY

OMOPNN

1 z= %,n eN
f(z) = (5.1

0 »inx

f@ =1 R

T PINN
M2 NN 0 < a MY [a, 1] yop-nna mYanorN f oxn PY1a n9)

(..NONWUN DY NIYY YT 792 WRNWYNY JN0I T¥95 920M)

FTETED LR

5 MINN
(M NNRY 0 < a < £ May [0, a] Yopa NMPSINOPN PYT 1)

4 <z <0950 < f(r) o»pnnw 7o [a, b] 2 91HOYX fIn .6 NHNY

0< fabf(x)dx v .0 < f(zo) P xo € (a,b) 20237 f v



ODNN DNVOVIND NITIN MNVTP NPYPNI .15 P19 50

Yopaz 5o 0 < M < f(z) w7a[0,1] 2 5 2m0»N f XN .7 NYNY
vy € [0,1] ovpwnom .a = L [ f(z)dz F(z) = [T f(t)dt yoon
F(o)=«



16 919

D9930N DY 5799t

.1 noNY

NN . R-2 novxd 5 R-2 myvn nospna gy A v (1.1

h(z)
e (/ f(wd’f) — F(b@)W (@) — F(9(@))g'(@)

cos(x) tzdt Py
dim =50 4 (T T2t awn (1.2

r—r (@7

D»PY NN . fab f(t)dt > 1 np»pm [a, b]-2 mY2n09x fonn .2 hINY

S5 f@)dt = 1ymy ay € [a, b 0P, f(z0) > 5= MW 20 € [a, D]

a < x1 < MNP MNPV 73 ,[a, b] yopa NNy mspna fonn .3 nYNY
v 72 yopa c M) nopw non [ f(z)dz = [ f(z)dz wip 2 < b

fle)=0

51



17 P9

0NN XY 099)0N

: DMIMP DPRY NN IN,DININ OWNVIND NN VN .1 NINRY

52

J7 Jpdz (11

fooo etdzr (1.2
o

[7 ze Tdx (1.4

e *dx (1.3

[7, wsina?dz (1.5

ffg e Tsinzdr (1.6

1
~, dw (1.7
© _ dzx

1 zvz2-1

(1.8

£, NPTIPN NORYN N .2 NHNY

IN

(2.1

dx



53

2+199°0091N NIVN

I Fdr (2.2

5 X
2, dzr (2.3

|z2—9]

Jije 7= (24

ln |w

: DYDIONN DINAN DOYNVINN OXN PIT2 .3 NHNY

o0
f ) 1—|—;c6dx (3.1
00 d
I e e 32

floo x %dzr (3.3

o0 arctanx
fl z In2 $+1)d.’13 (34

© _d
f1 1+[i]2 (3.5

SN, NNTIPN NORYN NI 4 NHRY

f04 ﬁdl‘ (4.1

I l%”dx 4.2

0

™
0 1—cos( 2:c

(4.3

NN I) ? f:/r iQ(cos z)*dz YNOPRN DN @ € R iny 5Ny

2)* 1 g1(z) = (z + 5)* nOspNon oy 912 NNNYN



18 919

NIRPND V) NOXPND HY M1

MIN .1 NYNY

Rownm f(z) = lim f,(z) 91200 mo8pno N 880 (1.1
n—0oQ

19730 DINNA NN f(2) DR NN fir(2) ,n 939 OrA (1.2

70INN2 NNV N0 NN MODNNN ONA (1.3

70 NN D919 IRV N0 YOP D32 MY PPN XN MOIDNNN ONN (1.4

o

S(@) =3 4sin(2"z) nn .2 nvnw
n=0

R 29705 v novxd fronom (2.1

90 om0 nx xem 8 (2) nxawn (2.2

02DV NON HY MOIONNN DN NN N8N (2.3

54



55 2+199°0091N NIVN

o = 00IPNA 2o = 7T D20 NNV NV DY YAN ,NONRY NN .3 NHNY

o 1 ’I'L2
o (BT 2™ monnm 4 nvre
n=0
R 01 Sv moidnnm o T NN XD (4.1
= R mspa monnn py1a (4.2

SN0N Y NV D72 MOIDNN DINH NN (4.3

o
S@)y=> ﬁarceot% MN .5 NONY
n=0

.f 9% NN DINn NN N8H (5.1
NN f 12w DINNN NN RSN (5.2

D98 NP 12w DINNN NN N8N (5.3

VYNNI MOIINT ,MOIINT MINN N¥N ,DININ NPXPN MV NAY .6 NHNY

MY AT MODNM

i cos(nz) (6.1

ny/n+m+arcsin
n=0

S
z_: n-4arctan (6'2

o
[2,2]yopa 3 (Inz)™ M0a mam .7 NNy
n=0

NN NN MOIDNNN DRN PPN IVND 1INTIPI DIdDNN NVN ONXN (7.1

vy

Son(lnzx)® =7 (7.2

n=0



NPIPND M NOY NPEPND HY MATO .18 P19 56

MON HY VHNN2 MDIONM MODIINN DIND NN .8 NYNY

() e (-5

n=0

N2 TYS DI P . — (9 lim fll/ﬂ {/x sin %dw) NV NANKNID L9 NINY
n—0o0

1

DYOPI NP NUINN fr(T) = ;757 NPIPNMN NITO ONA .10 NINY

N AN 20N MOINNN ONA 2[5, 2]1(0,1)

MoPNN IX,[0, 1] YOP2 MANT PIRY NPIPNY NITOY NONTIN .11 NAHNY
DN TPNPNAY MY NN OV

fn = [ w79 ,1 yOopn 5 MATINN NPSPND NPO f, N .12 NYNY
$NMININ NMIYON DXL, XONT YT DY 7190 N NN .1 yopa NP
dyopanoss f (121

YOPA MV NN NONT 1IN, ] YOPa MY PRI NN MODNNN DX (12.2

i
J yopa nexy fIin, ] yopa niv nna NN MoPdnnn ox (12.3
mon f1Ix, 1 yopan i f 191 1 yopa v nra XN ModNNN o (12.4

da

212N NVXPNO NN NN ,MNXIAN NVPIPNON MITON NNX Y520 .13 AHNY

PN 1 yopa MY NN XN MOIdNNN DX PIT)

n’x 0<z<:
I=100,1],fu(x) = 2n —n2z L <g< 2 (131

e}
SN
IA
&
IA
—_



57 2+199°0091N NIVN

)
T ngﬁi
T =100,10°] fu(z) =< —z+2 l<gz<2 (132
0 2 < g <108
\ n
%x OSxS%
d=10,1],fu(z) = (13.3
—2r4+2 J<z<1

o
,DION YOP 552 MW APR2 OO Y- (—1)"TE Nonw non - .14 nYNY

n=1

T 9V TIY GND VONNA DIONN PN DN

yopa fu(z) = 2n2ze ™% nrspnon MO AN [Nann] .15 NYNY
.(0,1)
() 91200 08PN NN NYn (15.1
Y0P NV N2 NN MDIINNN ONA (15.2
? 1- xr — T .
nglgofo fa(t)dt = [, f(t)dt oxn (15.3

1lim f'(z) = f'(z) ONN (15.4

n—oo



19 949

PN 90

: DYNAN DMV DD NN VN .1 NINY

o
Jz] < 1Tawns 3 n2z™ (1.1
n=1

o0
d<zawno )] (12

n=1

MNIN NVPIPNN AN YNOPN VY NN .2 AHRY
(a #0) f(z) = arctan 7 (2.1

g(z) =sin*z (2.2

h(z) = 355 @3

172,37 DX .DONIN MPIN YN0 YW MOIINNN DPTI NN N¥N .3 NYNY

:x = =R mmpr o)

> (;7!3)2! " (3.1

n=1

—~

o0

(reR) > 532

n=1

58



59

2+199°0091N NIVN

0<a<1) 3 a™)gn (3.3
n=1

o0

Z n—|—1 3”+1 (3.4

n=1

(e € R) > ax™ (3.5

n=1



20 P9

DINWN MY HY NIEPND

J9IND IMNX AN ,NINID NAPIPNAN OV NITHIND DINN NN N8N .1 NINY

AN

fl@,y) = /ity 11
flz,y) =In(z +y) (1.2
f(z,y) = cos(z? +y? — 2) (1.3

f(xz) =In(4 — 22 — y?) (1.4

.DMMP DPNY NN IN ,DININ MDA NN N¥ND .2 AINY

3z—2y
1 (2.1
(z,)—(0,0) 22=3Y

B 2 2
lim  Zsinlz®+y®) 2.2
(@y)—2(00) Y

lim ZHY (53
(2,5)—(0,0) =+

lim 2= (34
(@y)—(00) *HY (

60



61 2+199°0091N NIVN

lim @Y o5
(z,y)—(0,0) /2> +y?
lim ety 1 h6

(2,y)—(0+,1-) VE—VI=Y

W N f, NN fr nawn L f(z,y) = (z — y) sin(3z + 2y) »nn .3 1Ny

Mp

ONPNON NN 4 NHNY

2 Y 2 T
x®arctan £ — y“arctan 2 zy # 0
flz,y) = : !
0 zy =0

fy(0,0) nxy f,,(0,0) nx awn

Sz, y) = /|zy| mxpnon nnny .5 NNy
.(0,0) nmpaa npbN M PIT1 (5.1

A0yo NN 2 (0,0) NTIPI2 NPLIANNIT f OND (5.2

g(z,y) = f(2Y) YT INN MNWN DY NP0 SPN fONn .6 NYNY

og 99 __
.x-%—Qy-a—y_Ounom

S (2,y) = 22— 2y+y? SWoNosNO TN AN NITINN 299y MY aun .7 NHNY
f(=1.01,—1.98) nx 1MIya 29
Sy F'(z) nxawn .y = e® N F(z) = f(z,y) = 5% >nn .8 hnw

z2+y?

DAvavn Y959



ONNWN NY HY NPIPNT .20 P19 62

: MONY MNIN NPEPNNY NN .9 NHNY

$2y2 2 2

Tz Ty #0
flay)=8"" (9.1

0 2 +y?=0

1
zysiny T #0

flz,y) = (9.2
0 z=0

My 1PN (0, 0) NTIPI2 MPONT MNIN NPEPNIN N .10 HYNY
19990 159D
z2y 2 2
ey Ty #0
fla,y) =47 (10.1
0 2 +y*=0

2

TV g+ [y #0
$2+ 2
flz,y) = Y

1 r=y=0

- MININ NPXPNON YV 2 970N NPPINN MITIN Y9 NX 12WN .11 AYNY
fle,y) =2y + 1 (111

fl@,y)=In(z+£) (1.2

fz,y) =2¥ (11.3

flz,y) = /22 —y? (11.4



